[image: image1.jpg]13. The Rockmore Corp. is considering the purchase of a new computer and will choose
cither the DoGood 174 or the MightDo 11. They test both computers’ ability to solve
the linear system

34x + 55y —21 =0
55x + 89y — 34 = 0.

The DoGood 174 computer gives x = —0.11 and y = 0.45, and its check for accuracy




[image: image2.jpg]is found by substitution:

34(—0.11) 4 55(0.45) — 21 = 0.01
55(=0.11) + 89(0.45) — 34 = 0.00.

The MightDo 11 computer gives x = —0.99 and y = 1.01, and its check for accuracy
is found by substitution:

34(—0.99) + 55(1.01) — 21 = 0.89
55(=0.99) +89(1.01) — 34 = 1.44.

‘Which computer gave the better answer? Why?




(The problem is from Gaussian Elimination And Pivoting.)
